Habop SX6060 Silver (ans naHenn IM-600x600)

apt. 020265

@ Material composition

corner brace frame M4x5 Screw  M4*25 self-tapping screws  plastic expansion screws rubber cap

X4 PCS % XBPCS X4PCS X4PCS X 8PCS

Assemble the parts as below frame with screw driver

corner brace

M4 screw

B ——
frame

top view drawing

@ Mark position details as below

roof L
L*W(mm) I |
Frame Type Mounting Dimensions e I
IM-600x600 350*531.5 _ i / i

Mark position

@ Install the frame on the roof , then open the frame on one side

move the ceiling frame
then screw

remove the screws

@ Seal the hole with rubber cap ,finished top view drawing (right)

\ finished

roof

panel light inside

Cimm: )
rubber cap X8 pcs

top view drawing

drill @5mm holes at the marking positions
% put in plastic expansion screws
" M4*25 self-tapping screws

i

ceiling frame




